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NEW QUESTION 1
You are asked to create a method that accepts an array of integers and returns the highest value from that array.
Given the code fragment:

class Test{
public static void main(String[] args) {
int numbers(] = {12, 13, 42, 32, 15, 156, 23, 51, 12}:
int[] keys = findMax (numbers) ;

/*¥ line nl */ {
int[] keys = new int[3];
/* code goes here*/
return keys;

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 2
Given:

P

public class Test {

public static void main(Stringl[] args) {
Test ts = new Test():
System.out.print (i1sAvailable +
1sAvaillable= ts.doStuff():;
System.out.println(isAvailable);

" LL ]

et}

i

}

public static boolean doStuff ()
return !isAvailable;

}

static boolean isAvailable = true;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: C

Explanation:

x ®

Console 15
true false

Completed with exit code: O

NEW QUESTION 3
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.

Answer: D
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NEW QUESTION 4
Given:

class A |
o] void test () |

ublic
System.out.printlin (“A"):

L—

class B extends A {
public void test ()
System.out.println (“B"):
1
I
public class C extends A |
public void test () {
System.out.println (“C"):

public static void main (String [] args) {
A bl = new A ()

AL2 =new €C ();

bl = (A) bZ: //1line nl
A b3 = (B) b2:; f/line n2
bl.test ()}

b3.test ()7

}
What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 5
Given the code fragment:

public static veoid main(String[] args) {
ArrayList<Integer> points = new ArrayList<>():
points.add(1l)
points.add(2)
points.add(3)
points.add(d):
points.add(null):
points.remove(1l):
points.remove(null) :
System.out.println (points):

" -

-

}
What is the result?

A NullPointerException is thrown at runtim
. 2,4]

, 2,4, null]

, 3,4, null]

.3, 4]

Compilation fails.

A
B. [1
C.[1
D.[1
E.[1
F.

Answer: B

NEW QUESTION 6
Given the code from the Greeting.Java file:
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public class Greeting |
public static vold main(Stringl[] args) |
System.out.println("Helle " + args[0]);

}
}

Which set of commands prints Hello Duke in the console?
 A) javac Greeting

java Greeting Duke

¢ B) javac Greeting.jawva Duke
Java Greeting

¢ ) javac Greeting. java
java Greeting Duke

D) javac Greeting. java
java Greeting.claszs Duke

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 7
Given:

public class Fieldinit {
char c:
boolean b;
float £:
void printAll () {

System.out.println (“c =" + c);
System.out.println (“b =" + b):
System.out.println (“f = “ + £f);
}
public static void main (String [] args) {
FieldInit f = new FieldInit ():
f.printAll ():
}
}
What is the result?
A
C:
b = false
f = 0.0
B
c= null
b = true
f =0.0
C
c=0
b = false
f = ¢.0f
D
c= null
b = false
f = 0.0F
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 8
Given:

class Product

double price;

public class Test |

public wvoid
price =
product.
H

updatePrice (Product product, double price)

price * 2;
price = product.price + price;

public static void main(String[] args) {

Product prt = new Product ();
prt.price = 200;
double newPrice = 100;
Test £t = new Test () ;
t.updatePrice (prt, newPrice) ;
System.out.println(prt.price + " : " + newPrice);
}
}

What is the result?

A. 200.0:100.0

B. 400.0 : 200.0

C. 400.0 : 100.0

D. Compilation fails.

Answer: C

NEW QUESTION 9
Given:

class H O
SEatig dnt H.;
ST s

public static wold main(Stringl[] args) |
¥ ¥l = new X{);
X ®2 = new X();

wlopew= 33
#l.] = 4;
X2 1. = 5
HZ2.] = 6
gvstem. o
#1. .4
i |
He = d
Az |

I
What is the result?
A.3456
B.3436
C.5456
D.3646
Answer: C

NEW QUESTION 10
Given the code fragment:
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abstract class Toy {
int price;
4 line nl

h

Which three code fragments are valid at line n1?

A
public static void insertTov()
/* code goes here */
}
B
final Toy getToy () {
return new Toy():
}
C
public void printTov():
D
public int calculatePrice() {
recuarn PrlcCe;
}
E
public abstract int computeDiscount();
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 10
Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. It must contain the default section.

Answer: B

NEW QUESTION 13
Given the code fragment:

public static void main(String[] args) |
Locallate date = Locallate.of (2012, 01, 22);
dates.plusDays (10) ;
System.out.printlndate) ;

i

What is the result?

A. 2012-02-10

B. 2012-02-11

C. Compilation fails

D. A DateTimeException is thrown at runtime.
Answer: D

NEW QUESTION 18
Given:
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interface I |
public void displavyI():
}
abstract class C2 implements I {
public void displayC2() {
System.out.print ("C2") ;

}
class Cl extends C2 {

public void displayI() {
System.out.print ("Cl"};

}

And the code fragment:
C2 objl = new C1():
I obj2 = new Cl();

CZ2 s = (C2) obj2;
I t = objl;

t.displayI():
s.displayC2 () ;
What is the result?
A. Cl1C2
B.Cl1C1
C. Compilation fails.
D. C2C2

Answer: A

Explanation:
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p p-Jave x +

interface I {
public void displayI();
}
abstract class C2 implements I {
public void displayC2() {
System.out.print("C2");
}
}
class Cl extends C2 {
public void displayI() {
System.out.print("C1");

}

public class App (
public static void main(String[] args) {
C2 objl new Cl1();
I obj2 = new Cl();

C2 s = (C2) obj2;
It = objl;

t.displayl();
s.displayC2();

Console 1 X Console 2 * Console 3 X X

C1C2
Completed with exit code: 0

NEW QUESTION 23
Given this class:
public class CheckingBAccount {

public int amount;
//line nl

}

And given this main method, located in another class:
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public static void main({String[] args} {
CheckingAccount acct = new CheckingRAccount () ;
//1line n2

}

Which three pieces of code, when inserted independently, set the value of amount to 100?

A
At 1ine nl insert:
public CheckingAccount () {
amount = 100;
¥
B
AL 1line n2Z insert:
this.amount = 100;
L
At 1ine nZ insert:
amount = 100;
1]
AL 1ine nl insert:
public CheckinglAccount ()} {
this.amount = 100;
¥
E
AL 1line n2 insert:
acct.amount = 100;
F
At 1ine nl insert:
public Checkingaccount () {
acct.amount = 100;
}
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F
Answer: DE

NEW QUESTION 26
Given:
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Base.java:

class Base |
public void test(}{
System.out.println("Base ");

DerivedA.java:

class Derivedl extends Base |
public void test(){
System.out.println("Deriveda ");

DerivedB.java:

class DerivedB extends Derivedh |
public void test(){
System.out.println("DerivedB ") ;

i

public static void main(String[] args)
Base bl = new DeriwvedB () :
Base b2 = new Deriveda():;
Base b3 = new DeriwvedB () :;

Base b4 = b3;
bl = (Base)}) b2;
bl stest i)

b4 .test ()

H

What is the result?

A. BaseDerivedA

B. BaseDerivedB

C. DerivedBDerivedB

D. DerivedBDerivedA

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 29
Given the code snippet from a compiled Java source file:

public cla=zs MyFils
{

public static voild main (String[] args)
{
String argl = args[l];
String argZ = argsa[Z2];
String arg3 = args[3];
System.out.println(™argy is “ + argi);

}

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 132 2
B. java MyFile 2 2 2
C.javaMyFile12234
D.java MyFile0123

Answer: A

NEW QUESTION 30

What is the name of the Java concept that uses access modifiers to protect variables and hide them within a class?

A. Encapsulation
B. Inheritance
C. Abstraction

D. Instantiation
E. Polymorphism

Answer: A
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Explanation:
Using the private modifier is the main way that an object encapsulates itself and hide data from the outside world.

NEW QUESTION 32
Given:

class Caller |
private wvoid init () {
System.out.println (™Initialized”);

private wvoid start () {

init () ;
System.out.println(“Started”);
}
}
public class TestCall {
public static void main(Stringl[] args) {
Caller c — new Caller{);
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 36
Given the code fragment:

3. public static wvoid main(String[] args) /{

e int ¥ = 6;

5. while (isAwvailable(x}} {

6. System.out.print (x);

7.

8. }

Q. 1

10.

11. public static boolean isAvailable {int x) {
12 return —-x > 0 ? true :| false;

13.

Which modification enables the code to print 543217

A. Replace line 6 with System.out.print (--x);

B. Atline 7, insert x --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 39
Which statement will empty the contents of a StringBuilder variable named sb?
A.s

B. deleteAll ();

C.s

D. delete (0, s
E.size () );

F.s

G

H

l.

J.

delete (0, s
length () );

S
removeAll ();

Answer: C
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NEW QUESTION 40
Given the code fragment:

int numsl[] = {1, 2, 3};

int numsZ[] = {1, 2, 3, 4, 51;

nums 2 = nums 1;

for (int = : nums2){
Svstem.out.print {x + ":");

i

What is the result?

A. 1:2:3:4:5:

B. 1:2:3:

C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.

Answer: A

NEW QUESTION 43
Given:

class Vehicle |
int x;
Wehicle ()
thi=z(10); // line nl
i
Wehicle (1nt =) |
thi=z.x = =;

}

class Car extends WVehicle |
int v;
Cari) {
super () ;
thi= (207 ; /4 line nZ
H
Car (int ) |
this.y = v;
H
public String to Stringl) |
return super.x + ":" 4+ this.y;

'
And given the code fragment:
And given the code fragment;

Wehicle v = new Cari);
gystem.out.println(yv);

What is the result?

A. 10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 44
Which three statements are true about the structure of a Java class? (Choose three.)

A. A public class must have a main method.

B. A class can have only one private constructors.

C. A method can have the same name as a field.

D. A class can have overloaded static methods.

E. The methods are mandatory components of a class.
F. The fields need not be initialized before use.

Answer: ACE
NEW QUESTION 45
Which three statements are true about the structure of a Java class? (Choose three.)

A. A class cannot have the same name as its field.
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B. A public class must have a main method.

C. A class can have final static methods.

D. A class can have overloaded private constructors.

E. Fields need to be initialized before use.

F. Methods and fields are optional components of a class.

Answer: BDE

NEW QUESTION 46
Given:

public cla=zs Zpp |

public static vold main(Stringl[] args) |

int 1 = 10;

int 3 = Z0;

int k =(3 += 1}/ 5;

System.ocut.print{i + ™ : ™ + 5 4+ ™ M + Kk},

}

What is the result?
A.10:30:6
B.10:22:22
C.10:22:20
D.10:22:6

Answer: A

NEW QUESTION 48
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